Complete the conversions.

a) 2kg =

5 kg =

10 kg:

12kg =

A bag of dog food weighs 2.5 kg.

Write this weight in grams.

Complete the conversions.

a) 10 mm cm

What is the mass of one of the boxes?

Give your answer in grams.

b) 2.1 km =

2.001 km




Working Deeper

A shop sells litre bottles of water for 99p each.
300ml bottles of water are on offer of 8 for £2.

If Jess wants to buy 12L of water. Find the cheapest way she can do this.

Working Deeper

There are 60g of rice in one portion.

How many portions are there in a 3 kg bag of rice?




